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The logarithm of a product of two numbers is the same as the of the logarithms of these numbers.
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) The logarithm of a quotient of two numbers is the same as the of the logarithms of these numbers.
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4 we can expand Iog(%‘ry) to get fo7 (y‘* ) + ,e.,j ('7) —loj @D
= M Lsy (x) 4”6_1(.'7] "aj[%)

5 We can combine 4 log(x) + log(y) — loa(z) to get
\'
Ly (22)

6 (a) Toexpress Iog3(8) in terms of common logarithms, we use the Change of Base Formula to write the following. (Rc¢

your answers to three decimal places.)
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(b) Do we get the same answer if we perform the calculation in part (a) using In() in place of log()?
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True or False? (Let A > 0 and F > (0.)

7
(a) log(A + F) is the same as log(4) + log(F). F’
(b) log(AF) is the same as log(A) + log(F). T
True or False? (Let E > 0and G > 0.)
8

(a) Iog(g) is the same as log(E) — log(G). -T-

s the same as log(E) — log(G). :
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Use the Laws of Logarithms to evaluate the expression.

9
log(5) + log(200) = ,29_7‘ (o) = ,9:7 ('03) = 2

Use the Laws of Logarithms to evaluate the expression. Ce - Y
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11 Use the Laws of Logarithms to evaluate the expression. -

log,(52) — log,(13)

'j( \ /é’J () = |

Use the Laws of Logarithms to evaluate the expression.

12 — - 3
log5(v'3) = /00]3 (31) Y
13 Use the Laws of Logarithms to evaluate the expressmn > ?‘9‘7—5
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Use the Laws of Logarithms to evaluate the expression.
,s-(qs(.) L
14 l0g4(15) ~ log,(30) + log,(486) = Segg ( g =
4ok
.Q-jsl g.) —/an[ ) ,@73(3)
15 Use the Laws of Logarithms to evaluate the expression.

|Og3(9200) = /0053 ((3" W) :j']g /3‘:» =400

Use the Laws of Logarithms to evaluate the expression.

16 |Og(|Og(10-‘00:}) :/09‘7 [:oa):’)/
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Use the Laws of Logarithms to expand the expression.

(V)
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Use the Laws of Logarithms to expand the expression.

26 log ( xZ +2 )
\ (x2 + 3)(x3 - 2
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Use the Laws of Logarithms to expand the expression.

27 Iog ( \_.’.IXS\.-"!yE’—\f’;)

= —‘,i[rﬂoj(x).;-_% o)(';)"’ %Iq/}g

Use the Laws of Logarithms to combine the expression.

7 log(x) — 8 log(x + 1)

Use the Change of Base Formula to express the given logarithm in terms of common or natural logarithms, and then

30 evaluate. State your answer rounded to six decimal places.
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Vilfredo Pareto (1848-1923) observed that most of the wealth of a country is owned by a few members of the population.

Pareto's Principle is

log(P) = log(c) — k log(W)

where W is the wealth level (how much money a person has) and P is the number of people in the population having that

32

much money.

(a) Solve the equation for P.

Assume k = 2.5 and ¢ = 6,000 and that W is measured in millions of dollars. Use part (a) to find the number of
people who have $2 million or more. (Round your answer to the nearest whole number.)

(b)
How many people have $10 million or more? (Round your answer to the nearest whole number.)
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